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Can you find the word? 

 

1. This word a 5 character word which 
means “squeeze between a finger and 
thumb or a small amount that can be 
hold in between thumb and another 
finger.” 
2. Ignoring first character means “A 
measuring unit, approximately 2.54 cm.” 
3. Fourth, Fifth, Second and Third form 
a word which means “front of the lower 
Jaw”. 
4. First, Second and Third characters 
form a word, which means “short 
pointed piece of metal used for 
fastening things together and also 
Personal Identification Number”. 
5. Fourth, Fifth, Second and First 
characters  form a word, which means 
“fried oblong strip of potato and also a 
part in computer”. 
 

What is it? 
 

Tricky questions – Smart 
Answers 
 
Q. What is QTπ? 
A. Cuty Pie. 
 

Q. Tell a bird carrying ‘Wide Area 
     Network’ ? 
A. SWAN. 
 

Q. What city has a cat in it? 
A. Muscat. 
(Some more in next issue) 
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Can you find the word?
1. This word a 5 character word which
means “squeeze between a finger and
thumb or a small amount that can be
hold in between thumb and another
finger.”
2. Ignoring first character means “A
measuring unit, approximately 2.54 cm.”
3. Fourth, Fifth, Second and Third form
a word which means “front of the lower
Jaw”.
4. First, Second and Third characters
form a word, which means “short
pointed piece of metal used for
fastening things together and also
Personal Identification Number”.
5. Fourth, Fifth, Second and First
characters form a word, which means
“fried oblong strip of potato and also a
part in computer”.
What is it?
Tricky questions – Smart
Answers
Q. What is QTp?
A. Cuty Pie.
Q. Tell a bird carrying ‘Wide Area
Network’ ?
A. SWAN.
Q. What city has a cat in it?
A. Muscat.
(Some more in next issue)
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Cross Word for kids 
 

 
 

Across : 

 
18. On no occasion, at no time. (5) 
21. Same as 11 across.(2) 
22. Solid rock or mineral from which 
      metal is obtained. You can find it 
      in ‘Bangalore’, ‘Score’ and also 
      in ‘Store’. (3) 
23. Morally bad, harmful. (4) 
 
Down : 
1. Ice � Water �? (5) 
2. ‘Non Resident Indian’ in short. (3) 
3. Eskimo’s snow hut, jumbled. (5) 
4. Shrill sound made by blowing 
    through a narrow opening between 
    the lips. Sixth character moved to 
    second place. (7) 
5. Bachelor of Engineering. (2) 
8. Move into sloping position. 
    Jumbled. (4) 
9. Spell of weeping. Loud wordless 

1. White powdery substance seen in winter (form 
    of water). A Disney princess name starts with 
    it followed by a color. (4) 
6. An English alphabet (formed by a curved line) 
    having vertical and horizontal symmetry. (1) 
7. Platform on wheels for transporting goods. Bus 
    powered by electricity from an overhead wire. 
    (7) 
10. Number in ‘Height’. (5) 
11. Symbol for Radium. (2) 
13. Hanging ice formed when dripping water 
      freezes. Order changed to 5,3,1,2,4,6 (6) 
14. Slightly wet or Damp. (5) 
16. Abbreviation of ‘Industrial Training 
      Institute’. (3) 

    sound uttered. Bottom to top (3) 
12. Wire of rod for transmitting or 
       receiving radio waves. (6) 
15. Series of 6 balls bowled in 
      Cricket; Above; Excessively. (4) 
17. Three times. Monthly, Bi- 
      monthly, ___-monthly. (3) 
18. Not ‘YES’; But found in 
     ‘KNOW’, ‘SLOT’ and 
     ‘KNOT’. (2) 
19. What is common between ‘+ve’ 
      and ‘-ve’. (2) 
20. A note in Music scale like 
     ‘DO’. (2) 

 

Send your answers (Crossword and ‘Can you find the word?’) to the below address 
or e-mail on or before September QRQRQRQR�������
e-mail : susri@sanghamitra.org����
Mailing Address: Editor, Sanghamitra, 12450 Lyric Ct. Saint Louis, MO 63146.�
�

Can you answer? 
1. ‘An explosive item’ in ‘Old name of capital of Maharashtra’. (4) 

BBombombay 
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Cross Word for kids
Across :
18. On no occasion, at no time. (5)
21. Same as 11 across.(2)
22. Solid rock or mineral from which
metal is obtained. You can find it
in ‘Bangalore’, ‘Score’ and also
in ‘Store’. (3)
23. Morally bad, harmful. (4)
Down :
1. Ice � Water �? (5)
2. ‘Non Resident Indian’ in short. (3)
3. Eskimo’s snow hut, jumbled. (5)
4. Shrill sound made by blowing
through a narrow opening between
the lips. Sixth character moved to
second place. (7)
5. Bachelor of Engineering. (2)
8. Move into sloping position.
Jumbled. (4)
9. Spell of weeping. Loud wordless
1. White powdery substance seen in winter (form
of water). A Disney princess name starts with
it followed by a color. (4)
6. An English alphabet (formed by a curved line)
having vertical and horizontal symmetry. (1)
7. Platform on wheels for transporting goods. Bus
powered by electricity from an overhead wire.
(7)
10. Number in ‘Height’. (5)
11. Symbol for Radium. (2)
13. Hanging ice formed when dripping water
freezes. Order changed to 5,3,1,2,4,6 (6)
14. Slightly wet or Damp. (5)
16. Abbreviation of ‘Industrial Training
Institute’. (3)
sound uttered. Bottom to top (3)
12. Wire of rod for transmitting or
receiving radio waves. (6)
15. Series of 6 balls bowled in
Cricket; Above; Excessively. (4)
17. Three times. Monthly, Bi-
monthly, ___-monthly. (3)
18. Not ‘YES’; But found in
‘KNOW’, ‘SLOT’ and
‘KNOT’. (2)
19. What is common between ‘+ve’
and ‘-ve’. (2)
20. A note in Music scale like
‘DO’. (2)
Send your answers (Crossword and ‘Can you find the word?’) to the below address
or e-mail on or before September QR ˚�
e-mail : susri@sanghamitra.org�
Mailing Address: Editor, Sanghamitra, 12450 Lyric Ct. Saint Louis, MO 63146.�
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Can you answer?
1. ‘An explosive item’ in ‘Old name of capital of Maharashtra’. (4)
Bombay



 

 

����������	
�����������������������������������
�����	
����������������������������������������������
�

�	*��������
S*��T�2�U�����	*��������
S*��T�2�U�����	*��������
S*��T�2�U�����	*��������
S*��T�2�U�����
��������V���W28�X�2����=	�Y�3*����Y��I���Y"#2������01�F�-�+%�ZK�0	O#('*����3�	*���V���(�$�7�*��N�
�����[*����\�0	�� O#('*���� �����[�3�	>� 5�+�>� �����
����%IN�(�$�7��3�	>� O#���
*��*���3�(�$����
012�:$������X���;�
��28��%I�=	�����
>�2�]�B�X�ZK�0	O#(�=���5�
��-��	��������O#̂*���	2�����	�
V��O#28������[�_W28�X��28̂��̀T8������[�*���0	%�Fa��	*��=	�����
>��	*�������$�����>�$��3*�b�����
�\+,$������17�>N��c(��0	01:��	�0���2d�01=��0	�����+�*�b$�>��	�"?�FN��	*����2�I��Y>b�����
�������(��
>2�P28I�0	��� 2��
� �����=	������X� 0	��[(�� >7��28�0	O#̂�78�� 578� ��>�\+�,*�� (�$�7�� �����[����
*�0	:�e��f�X(�N� �����[7�>� ���;�
<*��� K*��17��� ��28��7�� ���F28�-+�,�78�� 01�g78� �1��� (�$�7�� ���h*���
��;F
���78��
�

��������V���2 ���32�i2��
������=	������X�V���7-�(��=	�����
>�5�+�0-2��$�$���(����>�����%$��
�����[��'��2�(��17����378�0	%�F*��(�$�7��j7-�(��5�+�0-2��$���	�*�b$����5���f$k*��l�����'��2�(�>0 �
O#P���� 7 
;�
����� 01�F*�+m&�	��78�� l���� 3*�b����� �\+�,� "?LF���I*�b� =	�����
>��� *����U��7 
;�
�����
01=	�$��� �	(�7�>j������[*��� ����7�S���78�� �����[� (�$�7�� ���;�
<*��� �2���[28���78�� 01�g78��1���
(�$�7�� �	*�� =	�����
>>� >7��2��1�����e*�*�b� )7�9A�Y����� � n�$��
�\+,$��� �'��7���� �\+e,*���� 7-�(��
�'�S&(��3��[$�� *���$�� �	�Ff�0	��-*'*����=	�����
>�>7�
o��(��k�*�7�>� �	��N�� ������*��(�$�7�*���
�$��	� �0����'�
7'*����4�7'�p�� 2�P�1���(�$�7��"#
B�������K$�0e*����
�

l��ql��ql��ql��q���2�T8��2�������c*��������->�;�
<>��'0	�:� 2�7��� 
�
�

l����7�Y����l����7�Y����l����7�Y����l����7�Y���� 
K*�7�(��*'��P2���0e�Ff*��
K>*���	*'���(���$����K��28���7�(��*r�
��>���&>������7'S�F*��
���*����$'"?�l���2��$������;F
�X�������.!�

32�s32�s32�s32�s�������q�������q�������q�������q����
K*�7�(���C�K*����e*���
��(���$����C��-�7�2���$����
K��28����7�(��*r�C�4�X��0	���e*���
���&�C�3�7�i�����

�

���	f2�Y����q���	f2�Y����q���	f2�Y����q���	f2�Y����q�t��P2���u�KL�=	�
>b�(�%28:�K��28��*�������7���4�KL�=	�����*���K*����=	��*����
K*�b�'�+*��4��A���$�����$��7�>>�(�%28:�4�X���N�K*�b7�>�X����	Y�'��� N�3���	Y�'��� �
�'��������*�b��$��6�T�2�B��X�l������	�$����
�

���	Y�������3;F
���N�V��7�>� �V��+������$���$�����*�b=�����+�>�K$�7d=	�+��O#T�Y��
��7����3K�V���*�Be��X>��v���
UN��v2����%����������;�
����;�
����;�
����;�
<<<<��U(��Td���U(��Td���U(��Td���U(��Td��

� �

asr
�
�	*��������
S*��T�2�U���� �
��������V���W28�X�2ˆ���=	�Y�3*˜�ˇ�Y��I�ˇˆY"#2������01�F�-�+%�ZK�0	O#('*��˚�3�	*���V���(ˆ$�7�*��N�
�����[*���˝\�0	�� O#('*��˚������[�3�	>�5�+�>��ˆ˝��
�ˆ��%IN�(ˆ$�7��3�	>�O#���
*��*���3�(�$����
012�:$������X� ��;�
��28��%I�=	�����
>�2�]�B�X�ZK�0	O#(ˆ=�˚�5�
��-��	�ˆ������O#^*���	2��ˇˆ�	�
V��O#28������[�_W28�X�˙28^�ˇ`T8������[�*���0	%�Fa��	*��=	�����
>��	*�������$��˝�˛>�$ˆ�3*�b�����
˝\+,$������17�>N�˝c(ˆ�0	01:��	�0ˆ��2d�01=��0	�����+�*ˆb$�>��	�"?�FN��	*����2�IˇˆY>b�����
�������(ˆ�
>2�P28I�0	��� 2ˆ˙
� �����=	������X� 0	��[(ˆ� >7��28�0	O#^�78˚� 578� ��>˝\+�,*�� (ˆ$�7�� �����[����
*�0	:�e˝�f�X(ˆN� �����[7ˆ>� ���;�
<*��� K*��17��� ��28��7ˆ� ���F28�-+�,�78˚� 01�g78� �1��� (ˆ$�7�� ���h*���
ˇ�;F
���78˚�
�
��������V���2 ���32�i2ˆ˙
������=	������X�V���7-�(��=	�����
>�5�+�0-2��$�$���(����>�����%$ˆ�
�����[��'��2�(��17��˚�378�0	%�F*��(ˆ$�7��j7-�(��5�+�0-2��$���	�*ˆb$��˚�5˝�˛f$k*ˆ�lˇ�˛��'��2�(�>0 �
O#P���� 7 
;�
����� 01�F*�+m&�	��78˚� l���� 3*�b����� ˝\+�,� "?LF���I*�b� =	�����
>��� *����U��7 
;�
�����
01=	�$��� �	(�7�>j������[*��� ����7�S���78˚� �����[� (ˆ$�7�� ���;�
<*���˙2���[28���78˚�01�g78��1���
(ˆ$�7�� �	*�� =	�����
>>� >7��2��1˝�ˇ��e*�*�b� )7˜9A�Y����� � n�$��
˝\+,$��� �'��7���� ˝\+e,*��˚� 7-�(��
�'�S&(ˆ�3��[$��*���$�� �	˝Ff�0	��-*'*��˚�=	�����
>�>7ˆ
o��(��k�*�7�>� �	��N�� ˝�����*��(ˆ$�7�*���
�$��	� �0ˆˇ��'�
7'*��˚�4�7'�p�� 2�P�1���(ˆ$�7��"#
B�������K$�0e*��˚�
�
l˙�q �˝�2ˆT8�ˆ2������˝c*��ˇ˜����->�;�
<>��'0	�:� 2ˆ7��˚
�
�
l˙�˝�7�Y����
K*�7�(��*'ˇ�P2���0e˝Ff*��
K>*���	*'�ˇ˜(�˝�$����Kˇ�28�˝�7�(��*r�
��>���&>������7'S�F*��
���*����$'"?�l˙˝�2��$������;F
�X�������.!�
32�s �������q �
K*�7�(���C�K*�ˇ��e*���
ˇ˜(�˝�$����C��-�7�2�˝�$����
Kˇ�28�˝�7�(��*r�C�4�X��0	ˇ��e*���
���&�C�3�7�i�����
�
�ˆ�	f2�Y����q �tˇ�P2���u�KL�=	�
>b�(�%28:�Kˇ�28��*ˆ������7���4�KL�=	�����*���K*�ˇ��=	��*��˚�
K*�bˇ'�+*˜�4ˇ˜A�˝�$�����$ˆ�7ˆ>>�(�%28:�4�X���N�K*�b7ˆ>�X����	Y�'��� N�3���	Y�'��� �
�'��������*�bˇˆ$˜�6�T�2�B��X�l˙�����	�$��˚�
�
���	Y�����˘�3;F
���N�V��7ˆ>� �V��+������$�˝�$��ˇ�˛*ˆb=�˚�ˇˆ+�>�K$�7d=	�+��O#T�Y��
�ˆ7��˚�3K�V�˜�*ˆBe��X>��v���
UN��v2����%˚�˘����;�
 <�ˆU(ˆ�Td˚ �
� �


